Math 1432

Bekki George
bekki@math.uh.edu
639 PGH

Office Hours:

Mondays 1-2pm,
Fridays noon-1pm
(also available by appointment)

Class webpage:
http: //www.math.uh.edu/~bekki/Math1432.html
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Assume that f'1s a function such that ‘f (n)(x)| <1 for all n and x. Estimate
the error if £(=2) is used to approximate f (—)2()
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Use the Lagrange formula to find the smallest value of n so that the Taylor
polynomial of degree n for f(x) = (x) centered at x = 0 can be used to
approximate 1 (x) within 10 * gf x = 1.
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Given J (¥) =xcosx2’ find /(9.
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Taylor Series of the Exponential f(x) = &*
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Taylor Series of the Sine f(x) = sin x
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Taylor Series of the Cosine f(x) = cos x
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Find the interval of convel;ﬁen
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10.1 Polar Coordinates
How do you describe the position of a point in a plane using distance and
angle rather than x- and y-coordinates?

r = directed distance from O to P
6 = directed angle -







Plot the points and find three additional polar representations of
each pointusing —2n<O<?2m
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Note : [r,e] = [r,e - Znn]z [—r,ei (2n + l)n] and [r,8+ n]
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Changing from polar form to rectangular form:
Formulas: | x=rcos@ y=rsin0

Example : Change the following to rectangular form
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Changing from rectangular to polar form:
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Formulas:| ¥ TY =7 For 0, can use formulas above or 6 = arctan T 0

Example: Change the following to polar form:
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More examples: XQ-H{': (* ) X =10 | la; Freand

1. Write the following in polar form.
A X =y =4

r2 oo - f*oaunte =i

r* (tos®® - wue) = 4
r*Cos(2p) =4

B.y=4
Cand =4 r:%—e r = Ycseo
C. y=x
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2. Write in rectangular form and describe the graph.
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Popper 30
1. The graph of y2 +Xx%2 =4 s a(n)

a. circle

b. ellipse

c. horizontal line
d. vertical line

e. hyperbola

2. The graph of r =2 is a(n)

a. circle

b. ellipse

c. horizontal line
d. wvertical line

e. hyperbola



3. The polar graph of r = 2 sec(0) 1s a (=
a. vertical line x =2
b. horizontal line y =2
c. vertical liney =2
d. horizontal line x =2
4. The polar graph of r = sec(0)tan(0) is
a. an ellipse (= “(,'/6]'8’6' 9—5%%
b. ahyperbola C(0sD = ¢ -S_&_r_\_{}__
€ (0sSH

c. aparabola

d. Ihave no clue AN = _\é—




